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" Question 1 [25 Marks]
Given Y = C + Ip + Go,
C=0+8Yd @>0;0<8<1)
T=y+BY (y>0;0<p<1)

Where v is non-income tax, B is income tax, § is marginal propensity to consume, a. is fixed constant, Y
(national income), Io (investment) and Go (government expenditure)

1. Find the reduced form of equilibrium income (Ye). 5 marks

2. Do comparative static to find the effect of government spending, non-income tax and income tax on
equilibrium income. 15 marks

3. Ifa=285;6=0.75;y=20; B=0.2; Io =45; Go = 50, find the effects of lump sum tax increase by $1
billion? S marks

Question 2 [25 Marks]

1. Solve the following system of equation using Cramer’s rule

8X1—X2 = 16
2X2 + 5X3 = 5
2X, —3X; =7

10 marks

2. Optimise the following function, using a) Cramer’s rule for the first order condition and b) the
Hessian for the second-order condition:

y =x% — Txy — x1%, + 2x2 — 2x, + 2x,%3 + 2%% + X3 — 3%, X3

15 marks
Question 3 [25 Marks]
Give the input matrix and the final demand vector
0.05 0.25 0.34 1800
A= [0.33 0.10 0.12] d= ’ 200]
0.19 038 0 900
(a) Explain the economic meaning of the elements 0.33, 0 and 200 9 marks
(b) Explain the economic meaning (if any) of the third column sum 3 marks
(c) Explain the economic meaning (if any) of the third row sum 3 marks
(d) Find the solution output levels by Cramer’s rule 10 marks
Question 4 [25 Marks]
Consider the following national income model (tax ignored).
Y-CY)-I({)—G,=0 [0<C’<1;1'< 0]
kY +L(i))— Mg =0 ke QL' < 1]
Analyse the comparative statics of the model to find the effect of expansionary fiscal and monetary policies?
25 marks

Total [100 marks]



